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Note: " This question paper contains two parts A and B.™
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries
10 marks and may have a, b, ¢ as sub questions.
PART = A E "_ ::.,;
(25 Marks)
l.a)  Define system call. [2]
b)  Differentiate between multi programming and multi processing. [3]
¢}, .- What is critical.section problem?, e, e, g sl 2]
dJ. i How are processes managed ini[INUX? i i LR 4 BBl
¢) Differentiate between logical virtual and physical address. [2]
f)  Explain directory structure. [3]
g)  Give different RAID levels. [2]
h)  Discuss about swap space management. [3]
1, - Differentiate-between unsafe-state and dead 1ock state RN gy o f 7]
i)~ - How access rights are revoked?:... AN E % B o
PART -B
(50 Marks)
2.?‘,):: ngZBrreﬂy exp;ram Eyplcal funcﬁ'on‘s"pf an Operogtrng-System Kemel """"
b)" *What resources-are used wheit athread is created? How do they drffer from those used
when a process is created? [5+5]
OR
3.a)  What are the different types of operating systems? Explain them in detail.
b) What are the»mﬁgm characterrs}tlos of Real Trme Operatrno System” _ [5+5]
4. ’“"Drscuss readers]wrlters problem and give solutron by using semaphores Where readers
have priority. OR [10]
5. Construct the Gantt chart for a) Shortest Job first b) Round Robln wrth g=3 ¢) Round

[10]

Process Pl i’2 P3 Péi 155
Arrival time 0 0 |2 1 3
CPU Burst Time (inms) | 10 6 (12 |8 |5




OR
A process refers to 5 pages, A, B, C, D, and E in the order- A; B; C; D; A; B; E; A;
B: C; D; E. If the page replacement algorithm is LRU, calculate the number of page
faults with empty frames of size 4‘7

i’ 1) Fixed Partitiofiing i) Dynanic partitioning. i. bt Lo[D+5]

Suppose the head of a moving head disk with 200 tracks, numbered 0 to 199, is
currently serving a request at track 143 and has just finished a request at track 125.1f the
queue of requests is kept in FIFO order: 86, 147, 91, 177, 94, 150, 102, 175,130. What
is the total hea,d movement to satlsfy these requests for the followmg disk schecluhncr

N §;::’a100r1thms‘7 R O
(a) FCFS (b) SCAN (c) SSTF (d) C- SCAN , [10]
OR
What is a Directory? Write short note on Directory implementation.
Explain about linked allocation method of a file. [5+5]

1ka):-

 Byen

A system has 3 Hevices Dl DQ and D3 and ™3 pmcesses Pl; P2 and F3. Pl 5§ holdmg

D1 and waiting for D3. P2 is holding D2 and waiting for D1. P3 is holding D3 and
waiting for D2.Draw resource allocation graph and wait-for graph. Is the system in

deadlock state or not? Explain. [10]
OR

:Explain about capability based systems. i7" EERE TN

Discuss abéut revocation of*aecess rights. ™ "+ Pt Ehf545]
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